EARAROBREBRT —5 XN—ZXBISH—F 2023588298 (X) 10EPI5I4H

IV THEE USR3HOP ‘(9&1&} B ‘I%EH?’JF&] - | & 1m0 B
(&%) 175:6,000,00  ~ 27%:1,680,000 3 ~ 3 #%:1,260,000 @ ~ 4 7 :840,000 @ ~ 5 #& : 420,000 [
AR BEne, IR WE | BF (RE) | 9-L (BB | mEREE | I3 | 5B | AS | #AE | BREG 7R B/ EERS
ol Lo A 5. -1 [39.0] - )
N > B2 "3 S R U mnEe
LAD0 BRLSAY ) s
N BlE 56, a2 |w0.7] - NEET dEE)
205|5 | =T VIRT # 3 56.0 ! (553 ’ R ’ (4+7:) Eﬁﬁ%j .
R:FPIPITRATVAR B:NAhFILY = D T=1b,
N P 57, 055 | 40.6| — NEEE (oEE)
31812 AHUTFFILR 3 56.01—2 ! (567) 4 10-10-5-5 | 40.6 > (i?i) éEH‘E{AT .
Kb oO0—-U— B:XA4Y3970—F =izt
_ WA : 44 Z )
111 |Fe A 2A e w3 | M 1SB0 | akat 420 4 (4_942) H A
R E—RO—F— B:DsRXvE—Y WO =

LS o3 | NERS 1:58.8 6-6-6-6 | 41.6 | — 8 464 | NISHA (OtimE)

RIIRTVFULY 8:FO095—h PAElNY s
= 3 | =BT 1:58.8 1-1-1-3 | 43.9| — 3 49 | MAER JbsE)
6(7|9|7 LA R Y F9%) wo |pEmz
RINVIT—=I—=)b B:I—-IVIIVT« pelre]
S, R t 3 | BEXXK 1:58.8 4-5-7-7 | 41.0| - 6 400 |BFFHKR OEE)
71516 | 79T3ILR * 5.0 ¥ *+2) NBER .
RIZARIT—IYF— B:NZA oA KIFEBHIS
— T 59, 178 |41.2] - AR (b5
EH 71 ILI 129 3 _ 1(352‘)0 11-11-7-8 | 41.2 12 zg)z L hd
R:TUFAFSA B:AIWLTY YUY v A His
v ey 3 | ZHEHES 1:59.7 8-9-10-9 |41.6| — 7 472 | RIE dsg)
9l7010|FvI /7 # 56.0 3) @y |EEE—E -
RiR—ANR B:FzU—D—)LR R ek
R FEES : -11-9- - HIBE (ime
10 | AV RU—5 (5 43 56%&4 2.?71).1 12-11-9-10 | 43.0 10 (4+888) ‘%gﬁg? (6[#i3<))
RiZTwvF—0Orvb B:Yady BNI7—L
. \ — s \ . —6-11- _ = (s
1 4| 7O0UFITILT v 3 E’ﬁffﬁm (22.011/.26) 6-6-11-11 | 43.0 1 (43(; %é;-z%a (i)
R:O—IWRFPII— B:SvIFPHAY BRI —L
3 | BfeES 2:04.2 9-6-12-12 | 45.2| — 9 44 | BEIE3L (OtEE)
121811 b9~ # 5.0 (94) w) | B Bt
R:E—FNO- B:FF/ V194 R R
@ 11— —®BIEfI
13—7+— 9,(2,5),(1,6),(3,4,10,11,12,7,8
20—F— (2,5,9) ,1,6,(3,4,11),10,12, (7,8)
30—7— 9,2,5,1,12,3,(6,7),8,10,4,11
43— — 2,5,9,1,12,3,6,7,10,8,4,11
o ILRE
B B 2 110 JA R 2-5 1004 % 3= 2-5 110M 3EE 2-5-12 340M4
7B B 2 100 2-12 2708 5 & 2= 120 3EH 2-5-12 5004
5 110M4 5-12 330 Ba 2-5 140
12 180

ABIC OV TRUTEREERRODDZE. THRIIZEL.




